StorageLive(_1)
StorageLive(_2)
StorageLive(_3)

3 = local user::login::f(const 7 u32)

return

1

_2=

<std::result::Result<u32,

&str> as std::ops::Try>::branch(move

real

return

StorageDead(_3)
FakeRead (ForMatchedPlace(None), 2)
_4 = discriminant(_2)

switchInt (move 4)

1 otherwise
4 0 5
falseEdge unreachable
imaginary
\d
3

StorageLive(_5)

5 = ((_2 as Break).0: std::result::Result<std::convert::Infallible, &str>)

gtorageLive(_7)
7= _5

0 = <std::result::Result<u32, &str> as std::ops::FromResidual<std::result::Result<std::convert::Infallible, &str>>>::from residual(move _7)

return

7

StorageDead(_7)
StorageDead(_5)
StorageDead(_ 2)
StorageDead(_1)

goto

N

StorageLive(_8)
1 = 8

StorageDead(_8)
StorageDead(_ 2)
StorageDead(_ 1)
StorageLive(_9)

8 = ((_2 as Continue).0: u32)

9 = local user::login::g(const 7 u32)

unwin@/éé;urn

Y

unwind

unwind

0 = std::result::Result::<u32,

§torageDead(_9)

&str>::0k(move 9)

10 (cleanup)

resume

goto

9

return

fn local user::login::minimum regular() -> std::result::Result<u32, &str>

let
let
let
let
let
let
let
let
let

debug residual => _

_1:
mut
mut
mut
_S:
mut
mut
_8:
mut

u32;

_2: std::ops::ControlFlow<std::result::Result<std::convert::Infallible, &str>, u32>;
_3: std::result::Result<u32, &str>;

_4: isize;

std::result::Result<std::convert::Infallible, &str>;

_7: std::result::Result<std::convert::Infallible, &str>;

6: !;
u32;
_9: u32;

debug val => 8;

unwind




